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1
Introduction

The simulation assumptions for RSTD measurement performance with larger bandwidth (15MHz and 20MHz) were agreed in RAN4#68 [1].  In RAN4#68bis, we discussed the RSTD accuracy for 15MHz and 20 MHz without overlapping PRS signals [2]. In this paper, we continue discuss the RSTD accuracy for 15MHz and 20 MHz with overlapping PRS signals.  
2 Simulation Assumptions
The simulation assumptions for RSTD measurement performance with larger bandwidth (15MHz and 20MHz) were agreed in RAN4#68bis. The scenarios covered in this paper are for FDD synchronous network with overlapping PRS signals as described in Table 1.
Table 1. Simulation assumptions for RSTD measurement performance

	Parameter
	Value

	Cell layout
	· Same ISD between cells of 500m

	Cell ID scenarios
	(0, 6, 12) for overlapping PRS signals

	Network synchronization
	· Synchronous

	Duplex modes
	FDD

	Data and CCH load
	100%

	Cyclic prefix
	Normal

	DRX
	OFF

	Carrier frequency 
	2 GHz

	UE speed
	· 5km/h, 70 km/h

	Carrier bandwidth
	· 15 MHz, 20 MHz

· 10 MHz (baseline for benchmarking with Rel-9)

	Channel model
	ETU, EPA, AWGN

	Noc (does not include received powers of the three simulated cells), [dBm/15kHz]
	-98 dBm/15 kHz

	Ês/Noc for three cells, [dB]
	(Reference cell, neighbour cell 1, neighbour cell 2) =

(-6,-13,-13)

	Number of transmit antennas
	PRS
	1

	
	CRS
	1

	Number of receive antennas
	2 equal-gain uncorrelated antennas

	Positioning subframes
	Low Interference Subframe (no presence of PDSCH in PRBs containing PRS),full alignment

	Number of consecutive positioning subframes
	1

	Number of positioning occasions for a positioning fix
	1

	PRS pattern
	6-reuse in frequency, vshift = mod(PCI,6)

	PRS transmission bandwidth
	Full carrier bandwidth

	Measurement bandwidth
	Full carrier bandwidth

	True RSTD
	Uniformly distributed random variable over the  (0, 0.25CP)


3 Simulation Results

The results are shown in the following figures.
3.1 Baseline 10MHZ Results
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Figure 1. BW=10MHz, Cell IDs=(0 6 12) AUWGN
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Figure 2. BW=10Mz, Cell IDs=(0 6 12) EPAS
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Figure 3. BW=10Mz, Cell IDs=(0 6 12) EVAS
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Figure 4. BW=10MHz, Cell IDs=(0 6 12) EVA70
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Figure 5. BW=10MIz, Cell IDs=(0 6 12) ETU70
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3.2 15MHz Results
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Figure 6. BW=15MHz, Cell IDs=(0 6 12) AWGN
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Figure 7. BW=15MHz, Cell IDs=(0 6 12) EPAS
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Figure 8 BW=15MHz, Cell IDs=(0 6 12) EVAS
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Figure 9. BW=15MHz, Cell IDs=(0 6 12) EVA70
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Figure 10. BUW=15MIHz, Cell IDs=(0 6 12) ETU70
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3.3 20MHz Results
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Figure 11. BW=20MIz, Cell IDs=(0 6 12) AWGN
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Figure 12. BUW=20MIz, Cell IDs=(0 6 12) EPAS
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Figure 13. BUW=20MIz, Cell IDs=(0 6 12) EVAS
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Figure 14. BUW=20MIz, Cell IDs=(0 6 12) EVA70
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Figure 15. BUW=20MHz, Cell IDs=(0 6 12) ETU70
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3
Conclusion

In this contribution we provided the RSTD simulation results with PRS overlapping for 10MHz, 15MHz and 20MHz. The simulation results show that the RSTD performance for 15MHz and 20MHz will have about 1 Ts or more performance improvements over the RSTD performance for 10MHz under simulated channel conditions.
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